
a               
       .
 , -  , - ,
- ,   -   ,  ,  
  . 

     
   :        

         
          .

a         
    .  

(  /  )X? (  /  )X? 
 : 10       

  60 . 12    
      ?

: 10        60
  12     
       .  ( 
/  )X?       . 

a          
(10/12)X60 = 50  

 
  1. 12   . 77.40.  9  

 . 58.05.
  2.      30  

       .   
        24 
   .  
.   1      
.  2              
.                  
.   

  : 
   :       

        
. 

a          
     .

a        
..   .

a a, b   b    a, b
 a:b  a/b . 

a      ,  
  (  ) .

 :
1.       

    . 
2.         

    . 
3.        , 

     
..       .

  :         ,
           
  . 

.. 3 : 4, 5 : 6, 2 : 3   30 : 72 
  15 : 36 .

 :         

. 
a           

         
.

a a : b; c : d        
      a, b, c, d  
   .     a : b :
: c : d .  a, d  ,
b, c     . 

a   =    

 
1.    (A): A, B, C    . 1000,

A, B  ; B, C    A
 . 600

 (R): 30  , 10    
  2 : 1  ,    
          45
. A, R      A, R     
. A   R  
. A    R 
. A, R   

2. 12,192   ?
. 16     . 48         . 180            . 204

3. 6, 7, x, 14       x ?
. 12         . 13         . 21     . 20

4. 3, 4, 11, 14         
    ?
. 5           . 3           . 4              . 1

   : 1.      2.       3.    4. 
    

1.      2.    
3.       

1.      

           
  .     
 .       
   .

  :           

          
         
          
            .

 : x, y     x = k y  .
 k    .  

2.      

    ,      
 .

 :             
          
           
           
            . 

 : x, y        x y = k 
k .

3.    
a M1  D1   T1 

   W1      , 
    M2   D2
  T2     W2
         
  .
M1 D1 T1 W2 =  M2 D2 T2 W1

:    100  
a Percent    Per, cent   

 . cent  100, per  ‘’ 
a 100      .   %
  :       

100    .
: 1/2      
: (1/2) x100 = 50 % 
 :       

   100  .   
   . 

 : A  B   X %  , B 
A   (X/100+X) 100 %    . 

:      25 %  

       ?
: (25/ 125) X 100 % = 20 %
  : A  B   X %   B

 A  (X/100-X) 100 %    . 
-   :        

        .
 : -        

       100  
 .       100 
      ,   100 
      . 

  : X    , Y    
       
 (x-y/y) x 100%      
  ,        . 

 :            
     x  ,  
 x         
.

:          
        
       .   
           
    .      
            
  .      
      . 

a          
a   =    -  
  -  
a         

  . 
a      ,     

  .
a  P,  T,   R    I =

PTR/100
a         

          .
 : 
a         

   .     
    .

   
1.    (   )
2.    (    )
 :          

        
  ,       
  . 

a   =  /    =  
/    

a   =  /   
a   =   x    

                    
10                     60
20                 30
30                    20
60                      10
100                    6
50                       12
1                       600

                                   (   )
5                                        25
10                                      50
50                                      250
100                                    500
40                                      200
1                                        5

6, 7,x,14       x?

:  1.           , 
 .     ,    .

2.            .
3.          .
a     x .  

  y .     
    = 2 x y/ x +  y.

a  n     = n +1 
a  n    = n
a  n    = (n +1)/2

a  n     (n +1)(2 n+1)/2
a x, y      = 

(    +    )/2
a x, y       =

(    +    )/2
a         

          .
a          

       .  
         .

 


